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Направление «??????»



ВОПРОС №1

Модему, передающему 
сообщения со 

скоростью 28800 
бит/с, для передачи 
100 страниц текста в 

30 строк по 60 
символов каждая в 

кодировке ASCII 
потребуется _____ 

секунд (-ы)
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0,02

62,5
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?

5 5
TJF



ВАШ ОТВЕТ

следующий

Правильно  
☺

TJF

предыдущий



ВАШ ОТВЕТ

следующий

Не 
правильно  
☹

предыдущий

TJF



ВОПРОС №2

При перекодировке 
сообщения из 

Unicode в код FSCII 
объем сообщения 

изменился на 
1/512 Мб. 

Сообщение 
содержит ____ 
символа (-ов).

256
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64

2048

1
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?

512 5
TJF



ВАШ ОТВЕТ

следующий

Правильно  
☺

предыдущий

TJF



ВАШ ОТВЕТ

следующий

Не 
правильно  
☹

предыдущий

TJF



ВОПРОС №3

Переведите 
число D3 из 

шестнадцатерич
ной системы 
счисления в 
двоичную.
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11100011

10001101
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10110101 5
TJF



ВАШ ОТВЕТ

следующий

Правильно  
☺

предыдущий

TJF



ВАШ ОТВЕТ

следующий

Не 
правильно  
☹

предыдущий

TJF



ВОПРОС №4

В качестве линий 
связи для 

передачи данных 
по компьютерной 

сети  могут 
использоваться:

Коаксиальный 
кабель

Сетевая карта

Витая пара

Оптоволокно 

1
2
3
4

№

?1,2,3 1,3,4 2,3,4 1,4 2,3
TJF



ВАШ ОТВЕТ

следующий

Правильно  
☺

предыдущий

TJF



ВАШ ОТВЕТ

следующий

Не 
правильно  
☹

предыдущий

TJF



КОНЕЦ

TJF


